Mg

(611) =

A A Ol =2 -
- .

- A - ol M)
PSS
= Z & & Il &
8 s of & o
= ES 203,824,754 | 217,970,186 | A14,145,432
610
s JRca agel 197,665,044 | 190,713,832 6,951,212
611
= 186,618, 349 181,971,298 4,647,051
0 80,672,680 78,615,820 2,056,860 | =242
e =
(8,5118 x 4453 x 45m x 122 )+(768% x 4453 x 45m x 6& )
+159, 140, 100& = 2,296,608
Os®+=
(9,382 x 445& x 35m x 12€& )+(57& x 4458 x 35m x 6& )
+146,211,480& = 1,905,033
OgR+s
(56,556%& x 451 x 39m x 128 )+(947 & x 4513 x 39m" x 6& )
+1,000,809,900& = 13,037,912
Oot44E
(8,140 x 4453 x 200 x 128 )+(254 & x 4453 x 200m x 6& )
+246,713,940& = 9,075,869
Ogs+c
(35,837& x 4452 x 66m x 128 )+(1,0328 x 4453 x 66M x 6& )
+749,114,460& = 13,561,365
OfE+% (51,5808 x 4499 x60m' x 12€ )+918,007,680% = 17,592,790
OH =5
(22,647% x 4493 x 80m x 128 )+(1,931& x 4493 x80m x 6& )
+553,872,060& = 10,731,804




L (611) 244 =

ool mel)
= At = J| =
OANMEx&
(33,938% x 4502 x 63m x 12& )+664, 157,580& -338, 158, 800&
= 11,871,706
mETE- RN
(33,2808 x 4642 x 30m x 122 )+(26& x 464 x30m x6& )
+49,531,140& = 599,593
olui s 98,341,734 | 95,850,058 =eac
(4,7758 x 873& x219m x 12&€)+(90& x 873& x 219m x 6& )
+282,076, 140& = 11,340,332
s8R+
(3,099& x 859& x 169m x 12& )+102,655,500&-28,743,850&
5,472,530
Oge+s
(11,6928 x 8311 x 108m x 128 )+398,060,820& -2, 153,950
12,987,910
Oeis4e
(5,6708 x 8332 x228m x 128l )+( 1428 x 8332 x228m x 6 )
+410,840,760& = 13,495,084
Ogs+c
(8,920& x 823& x 102m x 128 )+(61& x 8232 x 102m x6& )
+371,404,560& = 9,387,708
ORE+E
(10,9218 x 830€ x 135m' x 128 )+468,589, 3202 -139, 838,400
& = 15,013,127




>
=
02
1%
1
10
=
oo
>
il
1
1
10
Jo
S
=
ne
r
00
0
40
S
{0

PSS
ol & o = 2 & £ p] ES
Ol &b o
DAL=
(4,562F x 82121 x 122m x 128 )+( 1568 x 8212 x 122m x 67 )
+237,167,4602 = 5,814,187
ON8+E
(10,3497 x 8602 x 222m x 128 )+531,814,070& -37,802, 160
= 24,203,984
O2sta
(1,081 x 828 x56m x 128 )+( 107 x 8282 x 56m x 67 )
+22,604,6402 = 626,872
03
e o 7,603,935 7,505,420 B3| O (318 x 7922 x 1,960 x 128 )+8,397,6002 = 585,860
Os24+c (148 x 74120 x 898 M x 122 )+2,493,600 = 114,283
Ode+c (667 x 8182 x 2,148m x 122 )+14,037,480% = 1,405,632
iR (247 x 8532 x 2,896 x 122 )46,634,8002 = 718,077
Ods+s
(658 x 832% x2,143m x 128 )+(5& x 832& x 2,143m x6& )
+15,523,0809 = 1,459,733
OB+
(618 x 8462 x 2,042 x 12)+13,062,0002-62,191,1502 = 1,215,424
DAL= (357 x 8712 x 2,319m x 122 )47,810,8002 = 856,147
ON8+E
(457 x 8682 x 2,442m x 122 )49,733,0802 -25,435,8709 = 1,128,911




ST AL (610) &l L (611) B o . ma)
=
o & of = Z ] =
ol A o
O2st4c (9% x 790! x 1,395 x 12 )+847,0808 119,868
612
S4B AR 5,543,445 | 4,090,793 | 1,452,652

01
e 5,043,545 | 3,568,107 |  1,475438| o gt = 734,104
O® 13mm 612,4008 x 2,6202 = 1,604,488
O® 20mm 1,033,2108 x 57821 597,195
O® 25mm 927,880% x 6812 631,886
O® 32mm 1,184,32090 x 1372 = 162,251
O® 40mm 1,484,03080 x 9221 136,530
O® 50mm 3,413,3802 x 602 204,802
O® 75mm 5,533,0008 x 4621 = 254,518
O® 100mm 7,539,0008 x 1521 113,085
O® 150mm 9,783,0008 x 32 = 29,349
0 2s5d 1309, 441
O2~19I TH 95,5008 x 2,52021 240,660
O20~50 A1 91,556 x 1,323 = 121,128




L (612) 24T A4

Il =

O51~100All CH 72,7508 x 147A = 10,694
O 101~150 Al CH 62,852& x 136 = 8,547
O 151~200 Al CH 60,186& x 200 12,037
O201~250 Al CH 59,226& x 1,690 = 100,091
O251~300 Al CH 58,8363 x 2942 = 17,297
O301~350All CH 58,436& x 310 18,115
(O351~400 Al CH 58,0643 x 4002 23,225
O401~450 Al CH 57,6863 x 4252 24,516
O451 KT Ol & 57,686& x 12,7094 733,131
o (=T Al & 40,000,000& x 52 = 200,000
OS2k 1,000,000& x 20 20,000
Os®=k 2,200,000& x 72 15,400
ef+k 1,000,000& x 60A = 60,000
Oeae==% 1,036,000& x 50A 51,800
s+t 1,100,000& x 30A = 33,000




R

(612) =3 A=

Al o] = el : #)
ot =] SIERS
Ol & oA . 2 A = Il =
2|8 M = Ol &b o
SHAC 990,0008 x 40A 39,600
Hero 650,000 x 1824 11,700
OM8+E 1,350,000 x 442 59,400
AT 600,000 x 1524 9,000
613
JIEbe el 42l 5,503,250 4,651,741 851,509
01 ]
~n D Aol 54,138 53,598 540 | O HZI A2 6,282
ozg4+s (6,0002 x 2024 )+(12,0008! x 424 ) 168
ose4+s (6,0002 x 3024 )+(12,0008! x 42H) 228
odess (6,0002 x 18021)+(12,0008 x 20 ) 1,320
Oglass (86,0002 x 352 )+( 12,0002 x 2024 ) 450
ods4+s (6,0002 x20021)+(12,0008 x 302 ) 1,560
oL PN= (6,0002 x 18021)+(12,0002 x 302 ) 1,440
OAAE=E (6,000€ xB60H)+(12,000& x 1024) 480
ONBAE (6,0002 x 5024 )+( 12,0002 x 2024 ) 540
R F Y= (6,0002 x 1224)+(12,0008! x 224 96




(01) #4224 (o9l ma)

& & p] x
19,356
(6,0008 x 52021)+(12,0008! x 5021) = 3,720
(6,0008! x 4124)+(12,0008! x 424) = 204
(6,0008! x 39821)+(12,0008! x 1624) = 2,580
(6,000 x 24421)+(12,000& x 782 ) = 2,400
(6,000 x 24021)+(12,000& x 302 ) = 1,800
(6,0002 x 40021 )+(12,0008! x 5021) = 3,000
(6,0008! x 22324)+(12,0008! x 2724) = 1,662
(6,0002 x 40021 )+(12,0008! x 4021) = 2,880
(6,0002 x 15021 )+(12,0008! x 1021) = 1,020
HE HE++2) 28,500
(6,000 x 13724)+(12,0008! x 521) = 882
(6,0008! x 20024 )+(12,0008! x 321) = 1,236
(6,000& x1,20021)+(12,000& x 1521) = 7,380
(6,000& x9024)+(12,000% x 2021) = 780

(6,000 x20021)+(12,000& x 3021) = 1,560




& E AR S : (610) &0 Mg - (613) JIEFS e+ S 2 (01) #5ESY (el : mg)
rSIC
o s w | B2 & = o] =
ORB+E (6,0002 x 1,20021)+(12,000& x202) = 7,440
OANg+E (6,0002 x 30021)+(12,0008 x 521) = 1,860
OMEB+E (6,0009 x 91721)+(12,0008 x 2021) = 5,742
OZst+E (6,0009 x 25024)+( 12,0008 x 1021) = 1,620
4,733,491 4,572,343 161,148 | 4.728.600
OLEH+ 2132 x 1,850,000m x 128 = 4,728,600
BESES 4,891
OYZA 8% ¥ |9 6472 x 630 x 128 = 4,891
a0 715,621 25,800 689.821| Ootdpxg4 24l 54.35%1 x 35,000 x 3652 = 694,321
BEE S 300,0008 x 521 = 1,500
s=+= 300,0008 x 521 = 1,500
Ogs+s 300,0008 x 102 = 3,000
Oets4E 300,0008 x 521 = 1,500
Ogs+c 300,0008 x 1521 = 4,500
R8s 300,0008 x 1521 = 4,500




Y L= (610) et Mg : (613) JIEtE 4ol 2l )
duE g
ol &F oA o & o =5 & J| =

H ke 300,000 = 1,500

OM®4+E 300,0002 x = 3,000

2otaE 300,000 300
6,150,460 | 27,246,354 | ~21,095,894
3,581,550 1,476,452 | 2,105,098

3,581,550 1,476,452 | 2,105,098 | (== 000

OF=pl 70,000,000,0002 x 0.05 000

O] 3,000,000,000& x 0.025 ,000

AR A 550

O« T AL 50,0002 x 100

OIS=F-F~ 100,000 200

ORBE% 70,0002 x 140

OZEF% 30,0002 x 60

OENE-F 25,0008 x 50

O=s=24+% 200,0002 x 400




FCAY (620) &gl NIt (621) 20l 2 @ (01) LEHOIXAY 2
SINC
= = 2 & = =
“ of & o = ’! =
Os8+< 200,0008 x 23] 400
odess 600,0002 x 23] ,200
Ofa4 250,0008 x 23] 500
ogs+: 300,0008 x 23] 600
ORE4+T 600,0002 x 23] ,200
oL+ 300,0002 x 23] 600
ONR2E 350,0008 x 23] 700
OYstx& 200,0008 x 23] 400
2,204,311 | 25,422,603 | 123,218,292
2,204,311 | 25,422,603 | A23218292| (I5t+ T AIR2 SIEE 4 +42 83,407,600,0009 x 0.018 = 336
J2018 243 AT 242
46,865,000,0002 x 0.015 ,975
JIES & 2l 42 364,599 347,299 17,300
0
=T AL T 4 9 147,728 154,000 AB272| (1R H 7 A4S OIS g 972 147,728,000 728
02
comg2ao 67,200 65,200 2000 O A8zl A 50,000,0008 x 13l ,000




: (620) 2 efelol Mg (625) DIEtI@QI4el S : (02) ESEHA4Y (o) - ma)

i 3 &
&b o o A o E = &t = J| =

=88+ 1,000,000& x 23| = 2,000

esd=+ 500,000& x 43| = 2,000

SEE=+ 2,000,000& x 1& = 2,000

(=8t E = 500,000& x 13 = 500

s®=+k 2,300,000& x 12 = 2,300

Ogf+k 2,000,000& x 22| = 4,000

Ok 250,000& x 23| = 500

Ogs+=k 250,000 x 23| = 500

JEgEk 600,000& x 23| = 1,200

OAE== 350,000& x 23| = 700

M85 250,000& x 43| = 1,000

OHst+=E 250,000& x 22| = 500

o 30,060 31,260 AN1200| CJeae gHa= 960
o7 500& x 128 x 16024 = 960

O3 29,100




Z 0 (600) AT AL 49 8 @ (620) Ees NIE @ (625) JIE+E &4 Q42 S @ (03) HAZLAAS ciol - mgl)
ni; = 4 3 T
Of &F o e z A E Il =
2|8 kg = ol b o
OER4+% 300,0008 x 10AH = 3,000
OS®4+% 300,0008 x 102 = 3,000
O44g 1,000,0008 x 5A = 5,000
ol=F F 500,0008 x 102 = 5,000
Ods4+x 300,0008 x 102 = 3,000
ORE4T 500,0008 x 102 = 5,000
OHE+= 300,0008 x 102 = 3,000
ONB4+E 300,0008 x 62A = 1,800
OEI- A= 300,0008 x 1A = 300
05 119,611 96,839 22,772

4 o) . , 72 DI EFE 42 119,611

OFHARL

(3024 x 251,0209 )+(20AH x 143, 1002 )+(2024 x 109,400 )

+8,130,4008 = 20,711
O A&22 A 1,000,0008 x 10A = 10,000
O $:F-E= 2,500,0008 x 2A = 5,000
Odsd+ 160,0008 x 102 = 1,600




21 (600) AT AL (620) 2eiQl42 NIE @ (625) JIE+E & Q42 (05) &9 o . ME)
ot = SR C =
= = 2 & = ES
z g e = o ol & o s 2 =
@R ES 90,0008 x 102 = 900
OER2: 30,0008 x 2002 = 6,000
osgx+: 30,0008 x 1702 = 5,100
ol=F F- 40,0008 x 4002 = 16,000
Od&4g 40,0008 x 3102 = 12,400
Ods4+x 40,0008 x 2002 = 8,000
ORE4T 30,0008 x 4002H = 12,000
OHE+= 30,0008 x 3002H = 9,000
ON84+E 30,0008 x 4002 = 12,000
OZstas 30,0008 x 302 = 900
630
S0/ 9,250 10,000 AT50
631
MI|l&E2d +F0l2 9,250 10,000 AT50
01
9| & 0f & X 0] 9,250 10,000 AT O824+ 500,000® x 22 = 1,000
Os8+% 500,0008 x 2A = 1,000
Og84+s 500,0008 x 3A = 1,500




ST AR S (630) S0l Mg : (631) ®II2e £B0lo = 1 (01) &40l (ciel . mm)

e
= 2 & & o] ES

o & o

Oeas==% 250,000& x 1A = 250

sk 500,000& x 3 = 1,500

JRE+k 500,000& x 3 = 1,500

A== 500,000& x 22 = 1,000

OME+E 500,000& x 22 = 1,000

OZst=& 500,000& x 1A = 500




